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QUESTION 1

Which three statements are true regarding Fault Tolerance? (Choose three.)

A. Applications need to be continuously available to users.

B. Applications without native clustering capabilities can be protected.

C. Custom clustering solutions are complicated to configure and maintain.

D. Applications that have 16 vCPUs are supported.

E. Prevents application crashes by analyzing the workload and correcting problems.

Correct Answer: ABC

With Fault tolerance, applications need to be continuously available to users, application without native clustering

capabilities can be protected and custom clustering solutions are complicated to configure and maintain. Reference:
https://www.vmware.com/products/vsphere/features/availability

QUESTION 2

Refer to the Exhibit.
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An administrator is analyzing a virtual machine as shown in the Exhibit. What is the current long term risk for this virtual
machine?

A. The virtual machine may run out of memory before April 27.

B. The virtual machine may continue to function after April 27.

C. The virtual machine has adequate memory configured for operation for the next 120 days.

D. The virtual machine has adequate memory reservation configured for operation for the next 120 days.

Correct Answer: A

It seems like this virtual machine will run out of memory before April 27 as the graph dips down in the beginning of the

image in exhibit.
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QUESTION 3

Which three actions can be taken as a result of executing the vSphere Update Manager 6.x scan and remediation
wizards? (Choose three.)

A. Install and upgrade software in virtual machines.

B. Upgrade the firmware on ESXi host devices.

C. Upgrade and Patch ESXi hosts.

D. Install and update third-party software on hosts.

E. Upgrade virtual machine hardware.

Correct Answer: CDE

vSphere Update Manager 6.x scan and remediation wizards offer upgrade and patch ESXi hosts, install and update

third-party software and upgrade virtual machine hardware. Reference:
http://www.vmware.com/pdf/ivsp_vum_40_admin_guide.pdf

QUESTION 4

An administrator is installing a new network card in an ESXi 6.x host that is part of a vSphere cluster. When the host is
placed into maintenance mode, the vSphere Web Client displays the progress bar at 2% for over 30 minutes.

Which two are likely reasons for this occurrence? (Choose two.)

A. Maintenance mode is unable to migrate all virtual machines from the host.

B. There is a large number of virtual machines that must be migrated from the host.

C. VMware High Availability is in the process of reconfiguring the cluster.

D. Each virtual machine on the ESXi host must be reconfigured to recognize the new adapter.

Correct Answer: AB

The maintenance mode is unable to migrate all virtual machines from the host. There is a large number of
VM s that must be migrated first.

Reference: https://kb.vmware.com/selfservice/microsites/search.do?

language=en_USandcmd=displayKCandexternalld=1005241

QUESTION 5
For security purposes, which two traffic types should be assigned to separate VMkernel adapters? (Choose two.)

A. Datastore heartbeat traffic
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B. Virtual SAN traffic
C. Replication data traffic
D. Virtual machine traffic

Correct Answer: BD
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